






EX:8.2
Q1)ABCD is a quadrilateral in which P, Q, R, and S are mid-points of the sides AB, BC, CD, and AC is the diagonal.

show that 

In a triangle the line segment joining the mid points of any

two sides of a triangel is parallel to third side and is half of it.

By Midpoint theorem:



Q2)ABCD is a rhombus and P,Q,R,S are the mid-points of AB,BC,CD, and DA respectively. Prove

that Quadrilateral PQRS is a rectangle.





Q3)ABCD is a rectangle and P,Q,R,S are mid-points of the sides AB, BC, CD, DA respectively. show that the

quadrilateral PQRS is a rhombus.


